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Note : This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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Examine critically the growth model of Karl Marx.
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What do you mean by underdeveloped country ?
Explain the characteristics of underdeveloped
countries.
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Explain the innovation theory of Schumpeter.
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Discuss the ‘golden age’ in John Robinson’s growth
model.
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Note : Section ‘B’ contains eight (08) short answer type

qre :

1.
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questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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Discuss Social Dualism.

AR gaare &) FHeT B |




[3] MAEC-105
Explain “low level of equilibrium trap.”
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Distinguish between economic growth and economic
development.
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Discuss “poverty line and its measurement”.
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Explain the role of capital formation in economic
development.
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Explain “choice of techniques” in Planning.

frae # “Taiial-gama” T aweed |
Explain the growth rates of Harrod.
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What do you mean by “Big Push” ? Explain.
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(Objective Type Questions) / (@IS T)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.
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How many forms of indivisibilities have been
described in Rodan’s development model ?

(@ One

(b) Two

(c) Three

(d) Four
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Low level of equilibrium trap is related to :
(@ Mead

(b) Robinson

(c) Domar

(d) Nelson
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3. Who propound the “theory of surplus value” ?
(@) Hicks
(b) Mahalonobis
(c) Singer
(d) Karl Marx
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4. Planning Commission of India is now known as :

[

(@ Finance Commission

(b) Niti Ayog

(c) Agricultural Commission
(d) Banking Commission
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5. “Stationary state” was discussed in the growth theory
of :
(@ Adam Smith

(b) Harrod
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(c) Keynes

(d) Domar
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Unbalanced growth theory was propounded by :
(@ R.Nurkse

(b) W. A. Singer

(c) Rodan

(d) All of the above
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Concept of economic growth is :
(@ Quantitative

(b) Qualitative

(c) Both of the above

(d) None of the above
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“The General Theory” book is related to :

(@) Adam Smith
(b) J.S. Mill

(c) J. M. Keynes
(d) J.R.Hicks
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“Critical growth rate” concept is described by :

(@ Mead

(b) Marx

(c) Keynes

(d) Schumpeter
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If the saving rate is 28% and capital-output ratio is
4 : 1, then the growth rate of the economy will be :
@ 6%
(b) 7%
(c) 8%
d) 9%
AT q9d TR 28%- AT Yo-SeUIE AU 4 : 1 &
arefegaRen o famrT ) &Rl
(31) 6%
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